Math HL — Year 1 Name: KE 7
Trigonometry and Circle Geometry — Unit Test Review Period:
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2 The diagram shows an aerial view of a swimming
pool, ABQP, formed by two sectors of a circle.
The angle AOB is 0.8 radians. Find the surface
area and the perimeter of the pool.
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3. Find all the values of x in the interval [0,27] which satisfy the equation below. =
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4. Given that tan 20 = 7 find the possible values of tan 6.
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6. Consider triangle ABC with ZBAC =37.8, AB=8.75 ,and BC=6. Find AC.
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T Find the area of triangle XYZ to the nearest tenth of a unit if XY =5.1,YZ=17.7,and XZ =6.8.
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8. Given that sina = g and sin = E . Where both @ and /3 are acute angles, find the exact value

of sin(a+ f3).
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10.  Express __a;)_x in terms of sin x, simplifying your answer.
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11.  Solve 2 (Inx)’>=3Inx—1 for x. Give your answers in exact form (no decimal approximations).

2(1~x)* = 3(x) 1 =0 Dy =) =
N Y
2y* - 27, +l=o JAx = -21 Jax = |
i
(Dy=-0)Cy-1)=» o xee
- Py
CQ,ﬂ%")(\/ﬁX")/o X =€ }e
S |
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13.  Solve the following equations forx € IR .
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